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2015 AMRlA 714 AlE Lol

Atz 7|9 THES TOHH ()
18 03tAx) #+ & X5 2,852,000
2015 33 Db H| X5 3,982,000
e 2015 53 DO|2pAtR) StoOj 3,674,000
78 O|2bAHR S UH| X|= 3,897,600
9F D|oAK F&H| X|= 4,728,000
112 O|2Xxf FH| X[ 5,924,000
e A 25,057,600
20154 5 ~ 83 A 7|2 N ZAX} ot ofF HE SR 50,000
2015 5 ~ 83 A 7|2 I AKX e, ofF UE  6HE 400,000
201544 5 ~ 8& A 7|2 X EAZX oo, ot WS TR 420,000
20151 5 ~ 89 A 7| U DA} S}E, SHE g gYE 500,000
A2l =Xl | 20153 5 ~ 83 A T7|2 A HAX et ot UE  8EE 100,000
2t =2 E 2015 9F A 7|2 N AKX e, ohE LS 300,000
20154 102 A 7|2 X ZAZX ofst, o 4E 550,000
2015 11& 2tA 7|2 S 2AX} 3tet 3t E4E 350,000
20158 123 A 7|2 S 2AX} stet 3t EE 100,000
A BEAL A ﬂt%‘ =)L EE 100,000
e A 2,870,000
201514 49 SHY/AN |7<|1T ToI[(AHESlo|OHE] 1,237,500
201544 S5& HIAMNKX|IF FAUIA)EI|OHES] 231,000
20158 6& HIAMMX|F FA(AHBLI|OrE] 33,000
APS| 2 X0l | 20151 82 S X|=E JQI[AHTSIo|OrS] 356,400
gololnt= 20154 ICC = **“15 0K 3,102,000
20154 92 H_&X|=F FY[(AHHE=}|0FZ] 15,840
201514 109 S&X|=2 JQ[(AHT3Bto|OrE] 241,560
2015 119 si&X|=2 [QI[(AHETSIo|Ore] 10,560
g A 5,227,860




